Ocwmu paspen-HejeJHaunHe

Pemm HejemnaunHy U penieme
MIPUKAXUA HAa OPOJEBHO] MPaBO]

) x+3>7

2) 2x-5>3

3) —x+2>8

4) -2x+6<-4

5 x+5>0

6) 5x+10>16 — 23

7) X+2x-5>3x+4
8) 3x+10<-5x-8
9) 5x-8<11x+16

10)3x +14 > 6 + 2x
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1) 7x—(12-3x) > 6+10x

2) 5x—(2x+4) <12x+19

3) X—(3x+5) >4 +3x
4)3x—-2-(2x+4) >10x+19
5)2x+9-(3-2x) <5+5x

6) 7x—(11-2x) <4x+2-(3x-7)
7)4x—5-(4-2x) >2x—-3-(x-2)
8)4-(3a—-4)<4a-2a-(3-2a)
9)6-8a-(2—a)>72-30a
10)11a—-2-(5a-8) >8—-4a
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Pemm nejennaunne:

1) (x-1%-(x+1)*<-10-x
2)(x—4)* —(x+3)* =23(x-9)

3) (x-1)* = (x+1)?* <12 -x
4)Bx-1)(x-2)-3Bx+1)? >0
5)3x—(2-x)<5x-(1-(2-x))

6) (9Ix—3)(6x-7) < (18— x)(3x + 2)
7)(3x=1) + (4x +3)* < (5x + 4)*
8) (x +2)* — (x + 2)(x — 2) > 8x
9)(x+2)° —(x+4)(x—4)>24x-8
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Oppenu 3ajeIHUYKA pellICHa
HEjeTHAYNHA!

1) a) x>3
2) a) x>-2 b) x>-10
3)a) x-3>0 b) x-10>0
4)a) 2x-5>0 b)-x+6>0
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